
 



         

                    
            

 Ashley is 6 years less than triple her grandfather’s age. What would be the   

                        
                 

4.   
            –     (5xy −  4x +  9𝑦)  − (10 −  18x +  9xy)  

5.    
 (4𝑥𝑦 − 1)(5𝑥𝑦 + 4)  𝑥(5𝑥 − 10𝑥 + 𝑥 − 9𝑥 + 14)

6.        

   

7.                

8.              
        

9.   6𝑥  3   (4𝑥 − 3)(7 + 63𝑥)

10.    −3𝑥√990𝑥𝑦𝑧

11.        7      1        

3𝑥 − 7 

5𝑥 + 4𝑥 



12.      

14.                  

    

15.                         

16.                
    

17.                    
      

        
8    

a.     

b.      

20.                 
       

21.                 
       

22.     𝑑 = 2


               

         11 −

5 + 4

     

     

 

5 + 4 

        
    318     4  
          
  

 


